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#A- (15 4)
For the high-pass STC circuit in Figure 1, find the smallest coupling capacitor C that will result a
3-dB frequency no greater than 10 Hz -
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WA (15 4)
The circuit shown in Figure 2 is used to provide a constant voltage of about 1.95V. Calculate the

change 1n output voltage caused by (a) a +2V change in the power-supply voltage and (b)
connection of a 1kQ load resistance.

wdE= (16 &)
An NMOS FET has x,C,. =100pA/NV> . W /L =40V, =1V, and V/, =10V find g, and 7,
when (a)V.; =2V, and when (b)/, =1mA .



A (5 A)

The best feedback way to increase the input impedance and decrease the output impedance 1s:
(a) Series-Shunt feedback (b) Series-Series feedback
(c) Shunt-Series feedback (d) Shunt-Shunt feedback

#ALT (16 4)
Assuming the op amp to be ideal, derive an expression of the circuit shown in Figure 3
for the voltage gain V,/(V1-V2).
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AL (15 4)
For the circuit shown in Figure 4, the transistors have Vge (on) = Vgg (on) =0.7" and
B=100. Find the value of Vg1, Vc1, and Vca.
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AL (20 )
Figure 5 shows a MOSFET differential amplifier circuit. The transistors have V=
K1=K2=0.1 mA/V?, K3=K4=0.3 mA/V? and 2 =0. Determine the maximal voltage range

for the common-mode input signal. ( Here ip=K(Vgs-Vi)? )
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